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1
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¬ÍáÊÊZ∑§ — 60

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –
Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ „UÙŸ ¬⁄U
Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ –
If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.

3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U – ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 22 fl 24 ◊¥ •Ê¢ÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
All  the questions are compulsory. There are internal choices in
Question Nos. 22 and 24.

4. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –
Write the answer to each question in the given answer-book only.

5. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ UflÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ ‚ÃÃ˜
Á‹π¥ –
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.
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6. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U Áfl∑§À¬
( •, ’, ‚ ∞fl¢ Œ ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê
’ŸÊ∑§⁄U Á‹π¥ —
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
four alternatives A, B, C and D . Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

¬˝‡Ÿ ∑˝§◊Ê¢∑§
Question No.

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U
Correct letter of

the Answer

1.       (i)

1.       (ii)

1.       (iii)

1.       (iv)

1. (i) ⁄UÊ◊ •ÊÒ⁄U ‡ÿÊ◊ 2 : 1 ∑§ •ŸÈ¬ÊÃ ◊¥ ‹Ê÷Ê¥ ∑§Ê ’Ê¢≈UÃ „ÈU∞ ‚Ê¤ÊŒÊ⁄U „Ò¥U – ∑Î§cáÊ ‹Ê÷Ê¥ ◊¥
1
4  Á„US‚ ∑§ Á‹∞ ¬˝fl‡Ê ∑§⁄UÃÊ „ÒU – ⁄UÊ◊ •ÊÒ⁄U ‡ÿÊ◊ ÷ÊflË ‹Ê÷Ê¥ ∑§Ê ’⁄UÊ’⁄U ’Ê¢≈UŸ ∑§Ê
ÁŸ‡øÿ ∑§⁄UÃ „Ò¥U – ŸÿÊ ‹Ê÷ Áfl÷Ê¡Ÿ •ŸÈ¬ÊÃ „UÊªÊ
(•) 1 : 1 : 1 (’) 2 : 1 : 1
(‚) 2 : 1 : 3 (Œ) 3 : 3 : 2.
Ram and Shyam are partners sharing profits in the ratio of
2 : 1. Krishna enters for 1

4  th share in the profits. Ram and

Shyam decide to share future profits equally. New profit sharing
ratio will be
(A) 1 : 1 : 1 (B) 2 : 1 : 1
(C) 2 : 1 : 3 (D) 3 : 3 : 2. 1

2 

(ii) »§◊¸ ◊¥ Ÿÿ ‚Ê¤ÊŒÊ⁄U ∑§ ¬˝fl‡Ê ¬⁄U, •ÁflÃÁ⁄UÃ ‹Ê÷Ê¥ ∑§Ê ¬Í°¡Ë πÊÃÊ¥ ◊¥ „USÃÊãÃÁ⁄UÃ Á∑§ÿÊ
¡ÊÃÊ „ÒU
(•) ‚÷Ë ‚Ê¤ÊŒÊ⁄UÊ¥ ∑§Ê ©UŸ∑§ Ÿÿ ‹Ê÷-„UÊÁŸ Áfl÷Ê¡Ÿ ∑§ •ŸÈ¬ÊÃ ◊¥
(’) ¬È⁄UÊŸ ‚Ê¤ÊŒÊ⁄UÊ¥ ∑§Ê ©UŸ∑§ ¬È⁄UÊŸ ‹Ê÷-„UÊÁŸ Áfl÷Ê¡Ÿ ∑§ •ŸÈ¬ÊÃ ◊¥
(‚) ¬È⁄UÊŸ ‚Ê¤ÊŒÊ⁄UÊ¥ ∑§Ê ©UŸ∑§ Ÿÿ ‹Ê÷-„UÊÁŸ Áfl÷Ê¡Ÿ ∑§ •ŸÈ¬ÊÃ ◊¥
(Œ) ¬È⁄UÊŸ ‚Ê¤ÊŒÊ⁄UÊ¥ ∑§Ê ©UŸ∑§ ¬Í°¡Ë •ŸÈ¬ÊÃ ◊¥ – 
On admission of a new partner in the firm, the undistributed
profits are transferred in capital accounts of
(A) all the partners in their new profit-loss sharing ratio
(B) old partners in their old profit-loss sharing ratio
(C) old partners in their new profit-loss sharing ratio
(D) old partners in their capital ratio. 1

2 
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(iii) ∞∑§ »§◊¸ ∑§Ë ∑È§‹ ¬Í°¡Ë 2,00,000  L§0 „ÒU ÃÕÊ •ÊÒ‚Ã ‹Ê÷ 25,000 L§0 „ÒU – ∞‚

√ÿfl‚Êÿ ◊¥ ‹Ê÷ ∑§Ë ‚Ê◊Êãÿ Œ⁄U 10% •ŸÈ◊ÊÁŸÃ ∑§Ë ªß¸ – ÅÿÊÁÃ ∑§Ê ◊ÍÀÿ •Áœ‹Ê÷

∑§ ÃËŸ ªÈáÊÊ ∑§ ’⁄UÊ’⁄U „ÒU – »§◊¸ ∑§Ë ÅÿÊÁÃ ∑§Ê ◊ÍÀÿ „UÊªÊ

(•) 25,000 L§0 (’) 20,000 L§0

(‚) 15,000 L§0 (Œ) 10,000 L§0 –

Total capital of a firm is Rs. 2,00,000 and average profit is

Rs. 25,000. Normal rate of profit estimated in such business is

10%. Value of goodwill is equal to three times of super-profit.

Value of goodwill of the firm will be
(A) Rs. 25,000 (B) Rs. 20,000

(C) Rs. 15,000 (D) Rs. 10,000. 1
2 

(iv) A, B  •ÊÒ⁄U C  4 : 3 : 3 ∑§ •ŸÈ¬ÊÃ ◊¥ ‹Ê÷-„UÊÁŸ Áfl÷ÊÁ¡Ã ∑§⁄UÃ „ÈU∞ ‚Ê¤ÊŒÊ⁄U „Ò¥U –

C »§◊¸ ‚ •fl∑§Ê‡Ê ª˝„UáÊ ∑§⁄UÃÊ „ÒU – A  ∑§Ê ŸÿÊ Á„US‚Ê „UÊªÊ
(•) 4

10 (’) 3
7 

(‚) 4
7 (Œ) 1

3  .

A, B and C are partners sharing profit and loss in the ratio of

4 : 3 : 3. C retires from the firm. New share of A will be

(A)
4
10 (B)

3
7 

(C)
4
7 (D)

1
3  . 1

2 

2. ‚¢ÿÈÄÃ ‚Ê„U‚ •ÊÒ⁄U ‚Ê¤ÊŒÊ⁄UË ◊¥ ŒÊ •ãÃ⁄U Á‹Áπ∞ – 

Write two differences between joint venture and partnership. 1

3. “‚ÍøŸÊÕ¸ ’Ë¡∑§” ÃÕÊ “’Ë¡∑§” ◊¥ ŒÊ •ãÃ⁄U Á‹Áπ∞ – 

Write two differences between ‘Proforma Invoice’ and ‘Invoice’. 1



4

SS—30–1—Account. I SS–558  

4. ‚¢ŒË¬ Ÿ Á¬˝ÿ¢∑§Ê ◊Ê≈U‚¸ ‚ ∞∑§ ∑§Ê⁄U 2,00,000 L§0 ◊¥ Á∑§⁄UÊÿÊ ∑˝§ÿ ¬hÁÃ ¬⁄U π⁄UËŒË –
40,000 L§¬ÿ ÃÈ⁄UãÃ ÃÕÊ ‡Ê· ⁄UÊÁ‡Ê 40,000 L§¬ÿ ∑§Ë øÊ⁄U ‚◊ÊŸ flÊÁ·¸∑§ Á∑§SÃÊ¥ ◊¥ ŒË
¡ÊŸË „ÒU – Á∑§SÃÊ¥ ◊¥ 6% flÊÁ·¸∑§ Œ⁄U ‚ éÿÊ¡ ‚Áê◊Á‹Ã „ÒU – ∞∑§ L§¬ÿ ∑§Ë flÊÁ·¸∑§Ë ∑§Ê 6%

flÊÁ·¸∑§ éÿÊ¡ ∑§Ë Œ⁄U ‚ øÊ⁄U fl·¸ ∑§ Á‹∞ flÃ¸◊ÊŸ ◊ÍÀÿ 3·465105 L§¬ÿ „Ò – ⁄UÊ∑§«∏UË ◊ÍÀÿ
∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ –
Sandeep purchased a car from Priyanka Motors on hire purchase
system for Rs. 2,00,000. Rs. 40,000 is payable immediately and the
balance in four equal annual instalments of Rs. 40,000. The interest
included in instalments is @ 6% per annum. The present value of an
annuity of rupee one for four years at 6% p.a. interest is
Rs. 3·465105. Calculate the cash price. 1

5. 1§ ¡Ÿfl⁄UË, 2008 ∑§Ê ∞∑§ ◊‡ÊËŸ Á¡‚∑§Ê ⁄UÊ∑§«∏UË ◊ÍÀÿ 20,000 L§0 ÕÊ, Á∑§⁄UÊÿÊ ∑˝§ÿ ¬hÁÃ
¬⁄U π⁄UËŒË – Á∑§⁄UÊÿÊ ∑˝§ÿ ◊ÍÀÿ ÁŸêŸ ¬˝∑§Ê⁄U Œÿ ÕÊ —
⁄UÊ∑§«∏UË ◊ÍÀÿ ∑§Ê 15% Ãà∑§Ê‹ •ÊÒ⁄U 30% ¬˝ÁÃ Á∑§SÃ 30 ¡ÍŸ •ÊÒ⁄U 31 ÁŒ‚ê’⁄U ∑§Ê øÊ⁄U
¿U◊Ê„UË Á∑§SÃÊ¥ ◊¥ –
¬˝Õ◊ ŒÊ Á∑§SÃÊ¥ ◊¥ ‚Áê◊Á‹Ã éÿÊ¡ ∑§Ë ⁄UÊÁ‡Ê ôÊÊÃ ∑§ËÁ¡∞ –
On 1st January, 2008, a machine whose cash price was Rs. 20,000,

purchased on hire purchase system. The hire purchase price was

payable as follows :

15% of cash price immediately and 30% per instalment on 30th June

and 31st December in four half-yearly instalments.

Find the amount of interest included in first two instalments. 1

6. ‚Ê¤ÊŒÊ⁄UË ‚¢‹π ∑§ •÷Êfl ◊¥ ÁŸêŸÁ‹ÁπÃ ∑§ ‚ê’ãœ ◊¥ ÄÿÊ ÁŸÿ◊ „Ò¥U ?
(•) ‚Ê¤ÊŒÊ⁄UÊ¥ ∑§Ê flÃŸ
(’) ‚Ê¤ÊŒÊ⁄UÊ¥ ‚ ´§áÊ ¬⁄U éÿÊ¡ –
In the absence of partnership deed what are the rules relating to the

following ?

(a) Salary to partners

(b) Interest on loan from partners. 1

7. Ÿÿ ‚Ê¤ÊŒÊ⁄U ∑§ ¬˝fl‡Ê ¬⁄U ‚¢ÁŒÇœ ´§áÊ •ÊÿÊ¡Ÿ ∑§◊ ∑§⁄UŸ ∑§ Á‹∞ ÄÿÊ ¬˝ÁflÁc≈U „UÊªË ?
What will be the entry for reducing the provision for doubtful debts at

the time of admission of a new partner ? 1



5

SS—30–1—Account. I SS–558  [ Turn over

8. ‡Ê¢∑§⁄U •ÊÒ⁄U ¬Êfl¸ÃË 2 : 3 ∑§ •ŸÈ¬ÊÃ ◊¥ ‚¢ÿÈÄÃ ‚Ê„U‚Ë „Ò¥U – fl ‚¢ÿÈQ§ ‚Ê„U‚ ∑§Ë ¬ÎÕ∑§   
¬ÈSÃ∑¥§ ⁄UπÃ „Ò¥U – ©Uã„UÊ¥Ÿ ¬Êfl¸ÃË ‚ ¬˝Ê#  6,000 L§¬ÿ ∑§ ¬˝Êåÿ Á’‹ ∑§Ê 5,800 L§¬ÿ ◊¥ ÷ÈŸÊ
Á‹ÿÊ – Á’‹ ÷ÈŸÊŸ ∑§Ë ÄÿÊ ¬˝ÁflÁc≈U „UÊªË ? Áflfl⁄UáÊ ÷Ë ŒËÁ¡∞ –
Shankar and Parvati are coventurers in the ratio of 2 : 3. They
maintain separate books for the Joint Venture. They discounted a Bill
Receivable received from Parvati of Rs. 6,000 at Rs. 5,800. What will
be the entry for discounting the bill ? Give description also. 2

9. ŒÊÒ‹Ã •ÊÒ⁄U ¬flŸ •Á÷ªÊ¬Ÿ √ÿfl‚Êÿ ◊¥ ‚¢ÿÈÄÃ ‚Ê„U‚Ë „Ò¥U – ¬˝àÿ∑§ •¬ŸË ¬ÈSÃ∑§Ê¥ ◊¥ ‚÷Ë
‹ŸŒŸÊ¥ ∑§Ê ‹πÊ ⁄UπÃÊ „Ò – ¬flŸ Ÿ ∑§ê¬ŸË ‚ ¬˝ÊåÃ 10,000 L§¬ÿ ∑§ •¢‡ÊÊ ¥ ∑§Ê
12,000 L§¬ÿ ◊¥ Sflÿ¢ ‹ Á‹ÿÊ – ŒÊŸÊ¥ ¬ˇÊÊ¥ ∑§Ë ¬ÈSÃ∑§Ê¥ ◊¥ •¢‡Ê ‹Ÿ ∑§Ë ¡Ÿ¸‹ ¬˝ÁflÁc≈UÿÊ°
ŒËÁ¡∞ –
Daulat and Pawan are coventurers in an underwriting business. Each
one keeps records of all the transactions in their books. Pawan took
himself the shares received from the company of Rs. 10,000 at
Rs. 12,000. Give journal entries in the books of both the parties for
taking shares. 2

10. ◊È∑§‡Ê Ÿ ‚Ë◊Ê ∑§Ê 50 L§ß¸ ∑§Ë ªÊ°∆¥ 1,000 L§¬ÿ ¬˝ÁÃ ªÊ°∆U ‹ÊªÃ ◊ÍÀÿ ¬⁄U ¬˝·áÊ ¬⁄U ÷¡Ë –
¬˝·áÊ √ÿÿ 5,000 L§0 Õ –  5 ªÊ°∆¥UU ⁄UÊSÃ ◊¥ øÈ⁄UÊ ‹Ë ªßZ •ÊÒ⁄U ’Ë◊Ê ∑§ê¬ŸË Ÿ 4,000 L§0
∑§Ê ŒÊflÊ SflË∑§Ê⁄U Á∑§ÿÊ – ‚Ë◊Ê Ÿ ‡Ê· ªÊ°∆¥U ¬˝ÊåÃ ∑§Ë •ÊÒ⁄U 800 L§0 ∆U‹Ê ÷Ê«∏UÊ ∑§ øÈ∑§Êÿ –
•‚Ê◊Êãÿ „UÊÁŸ ∑§Ë ⁄UÊÁ‡Ê ÃÕÊ ‹Ê÷ ∞fl¢ „UÊÁŸ πÊÃ ‚ øÊ¡¸ ∑§Ë ¡ÊŸ flÊ‹Ë ⁄UÊÁ‡Ê ôÊÊÃ  
∑§ËÁ¡∞ –
Mukesh consigned 50 bales of cotton to Seema at cost price of
Rs. 1,000 per bale. Consignment expenses were Rs. 5,000. 5 bales
were stolen in transit and the insurance company accepted the claim
of Rs. 4,000. Seema received the remaining bales and paid Rs. 800
for cart hire. Find the amount of abnormal loss and the amount
chargeable to Profit & Loss Account. 2

11. •ÁŸ‹ Ÿ •ÁŸÃÊ ∑§Ê 90,000 L§0 ‹ÊªÃ ∑§Ê ◊Ê‹ ¬˝·áÊ ¬⁄U ÷¡Ê – •ŸÊflÎÁûÊ ¬˝∑Î§ÁÃ ∑§ √ÿÿ
5,000 L§0 „ÈU∞ ÃÕÊ •ÊflÎÁûÊ ¬˝∑Î§ÁÃ ∑§ √ÿÿ 4,000 L§¬ÿ – ß‚ ◊Ê‹ ∑§Ê 80% , ‹ÊªÃ ◊¥
50% ¡Ê«∏U∑§⁄U ’øÊ – ‚Ê◊Êãÿ „UÊÁŸ 5% „ÒU – Á’ŸÊ Á’∑§ ◊Ê‹ ∑§ ◊ÍÀÿ ∑§Ë ªáÊŸÊ ∑§ËÁ¡ÿ –
ÄÿÊ ¬˝·áÊË ∑§Ë ¬ÈSÃ∑§Ê¥ ◊¥ ß‚∑§Ë ¡Ÿ¸‹ ¬˝ÁflÁc≈U „UÊªË ?
Anil dispatched goods to Anita on consignment costing Rs. 90,000.
Non-recurring nature expenses were Rs. 5,000 and recurring nature
expenses were Rs. 4,000. 80% of these goods were sold, by adding
50% in cost. Normal loss is 5%. Calculate the value of unsold goods.
Will the journal entry be done for this in the books of consignee ? 2
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12. 1 ¡Ÿfl⁄UË, 2006 ∑§Ê ◊ŸÊ¡ Ÿ ŸÊ«UË ‚ Á∑§⁄UÊÿÊ ∑˝§ÿ ÁflÁœ ‚ 1,00,000 L§¬ÿ ◊¥ ∞∑§
◊‡ÊËŸ π⁄UËŒË – ©U‚Ÿ 25,000 L§¬ÿ ÃÈ⁄UãÃ ÷ÈªÃÊŸ ∑§⁄U ÁŒÿ ÃÕÊ ‡Ê· ⁄UÊÁ‡Ê ÃËŸ ‚◊ÊŸ
flÊÁ·¸∑§ Á∑§SÃÊ¥ ◊¥ ŒŸ ∑§Ê flÊÿŒÊ Á∑§ÿÊ – ßŸ Á∑§SÃÊ¥ ◊¥ 5% flÊÁ·¸∑§ Œ⁄U ‚ éÿÊ¡ ‚Áê◊Á‹Ã   
„ÒU –

◊‡ÊËŸ ∑§ ⁄UÊ∑§«∏UË ◊ÍÀÿ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ –
On 1st January, 2006 Manoj bought a machine from Noddi on hire

purchase system for Rs. 1,00,000. He paid Rs. 25,000 immediately

and promised to pay the balance in three equal annual instalments.

These instalments include interest @ 5% per annum.

Calculate the cash price of the machine. 2

13. ∞‚ •ÊÒ⁄U ≈UË 4 : 3 ∑§ •ŸÈ¬ÊÃ ◊¥ ‹Ê÷-„UÊÁŸ Áfl÷Ê¡Ÿ ∑§⁄UÃ „ÈU∞ ‚Ê¤ÊŒÊ⁄U „Ò¥U – flÊÁ·¸∑§ πÊÃ
’Ÿ ¡ÊŸ ∑§ ©U¬⁄UÊãÃ ÿ„U ôÊÊÃ „ÈU•Ê Á∑§ 7,000 L§¬ÿ ◊¥ π⁄UËŒË ªß¸ ∞∑§ ◊‡ÊËŸ ∑§Ê ◊⁄Uê◊Ã
πÊÃ ◊¥ ŸÊ◊ ∑§⁄U ÁŒÿÊ – ◊‡ÊËŸ ¬⁄U 20% flÊÁ·¸∑§ Œ⁄U ‚ OÔUÊ‚ ÷Ë ‹ªÊÿÊ ¡ÊŸÊ „ÒU –
‚ÈœÊ⁄U „UÃÈ •Êfl‡ÿ∑§ ¡Ÿ¸‹ ¬˝ÁflÁc≈U ŒËÁ¡∞ –

S and T are partners sharing profit and loss in the ratio of 4 : 3. After

preparing the final accounts it was found that a machine purchased

for Rs. 7,000 was debited to Repairs Account. Machine is to be

depreciated @ 20% per annum.

Give necessary Journal entry to rectify. 2

14. ‚ÈÁŸÃÊ, •ÁŸÃÊ fl ‚Ë◊Ê ∞∑§ »§◊¸ ◊¥ 5 : 3 : 2 ∑§ •ŸÈ¬ÊÃ ◊¥ ‹Ê÷-„UÊÁŸ ’Ê°≈UÃ „ÈU∞
‚Ê¤ÊŒÊ⁄U „Ò¥U – ‚ÈÁŸÃÊ »§◊¸ ‚ •fl∑§Ê‡Ê ª˝„UáÊ ∑§⁄UÃË „ÒU – ß‚ ÁÃÁÕ ∑§Ê, Áø_ÔUÊ ‚Ê◊Êãÿ
‚¢øÿ 20,000 L§0 ÃÕÊ ‹Ê÷ ∞fl¢ „UÊÁŸ πÊÃÊ ( ŸÊ◊ ‡Ê· ) 10,000 L§¬ÿ ’ÃÊ ⁄U„UÊ ÕÊ –

‚ÈÁŸÃÊ ∑§ •fl∑§Ê‡Ê ª˝„UáÊ ¬⁄U ßŸ∑§Ë •Êfl‡ÿ∑§ ¡Ÿ¸‹ ¬˝ÁflÁc≈UÿÊ° ∑§ËÁ¡∞ –

Sunita, Anita and Seema are partners in a firm sharing profit and loss

in the ratio of 5 : 3 : 2. Sunita retires from the firm. On this date,

Balance Sheet was showing General Reserve Rs. 20,000 and Profit

and Loss Account ( debit balance ) Rs. 10,000.

Make necessary Journal entries of these on retirement of Sunita. 2
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15. »§◊¸ ∑§ ‚◊Ê¬Ÿ ¬⁄U ‚¢ŒË¬ ÃÕÊ ‡ÊÈ÷◊ ∑§ ¬Í°¡Ë πÊÃÊ¥ ∑§ ‡Ê· ∑˝§◊‡Ê— 30,000 L§¬ÿ ÃÕÊ
15,000 L§¬ÿ „Ò¥U – »§◊¸ ∑§Ë ‚ê¬ÁûÊÿÊ¥ ‚ fl‚Í‹Ë ¬⁄U 18,000 L§¬ÿ ¬˝Ê# „ÈU∞ – fl‚Í‹Ë „ÈUÿË
⁄UÊÁ‡Ê ∑§Ê ‚Ê¤ÊŒÊ⁄UÊ¥ ◊¥ •Áœ∑§Ã◊ „UÊÁŸ ÁflÁœ ‚ ÁflÃ⁄UáÊ ÁŒπÊßÿ –
On dissolution of the firm the balances of Capital Accounts of Sandeep
and Shubham are Rs. 30,000 and Rs. 15,000 respectively.
Rs. 18,000 is received from realisation of assets of the firm. Show the
distribution of amount realised amongst the partners by maximum
loss method. 2

16. “•Á÷” •ÊÒ⁄U “∞‡Ê” 2,000 ∑§¬«∏U ∑§Ë ªÊ°∆¥U “’Ê” ∑§Ê ¬˝·áÊ ¬⁄U ’øŸ ∑§ Á‹∞ 1 : 1 ∑§
•ŸÈ¬ÊÃ ◊¥ ‚¢ÿÈÄÃ ‚Ê„U‚ ◊¥ ¬˝fl‡Ê ∑§⁄UÃ „Ò¥U – “•Á÷” 1,200 ªÊ°∆¥U 156 L§0 ¬˝ÁÃ ªÊ°∆U ∑§Ë Œ⁄U
‚ ÷¡ÃÊ „ÒU •ÊÒ⁄U 2,300 L§0 πøÊZ ∑§ øÈ∑§ÊÃÊ „ÒU – “∞‡Ê” 800 ªÊ°∆¥U 150 L§¬ÿ ¬˝ÁÃ ªÊ°∆U ∑§Ë
Œ⁄U ‚ ÷¡ÃË „ÒU •ÊÒ⁄U 1,900 L§¬ÿ πøÊZ ∑§ øÈ∑§ÊÃË „ÒU – “’Ê” ‚÷Ë ªÊ°∆UÊ¥ ∑§Ê 3,60,000
L§¬ÿ ◊¥ ’øÃÊ „ÒU •ÊÒ⁄U 3,800 L§¬ÿ πøÊZ ∑§ øÈ∑§ÊÃÊ „ÒU – “’Ê” Áfl∑˝§ÿ ¬⁄U 3% ∑§◊Ë‡ÊŸ ∑§Ê
•Áœ∑§Ê⁄UË „ÒU –
“•Á÷” ∑§Ë ¬ÈSÃ∑§Ê¥ ◊¥ ‚¢ÿÈQ§ ‚Ê„U‚ πÊÃÊ ’ŸÊßÿ ÿÁŒ fl„U ‚ê¬ÍáÊ¸ ‚ÊÒŒ Œ¡¸ ∑§⁄UÃÊ „ÒU –
‘Abhi’ and ‘Aish’ enters into a Joint Venture to sale on consignment
2,000 bales of cloth to ‘Baa’, in the ratio of 1 : 1. ‘Abhi’ sends
1,200 bales at Rs. 156 each bale and pays expenses Rs. 2,300. ‘Aish’
sends 800 bales at Rs. 150 each and pays expenses Rs. 1,900. ‘Baa’
sells all the bales for Rs. 3,60,000 and pays expenses Rs. 3,800.
‘Baa’ is entitled for a commission of 3% on sales.

Prepare Joint Venture Account in the books of ‘Abhi’ if he records all
the transactions. 3

17. ‚ËÃÊ Ÿ 2,00,000 L§0 ◊¥ 10,000 ◊Ë≈U⁄U ∑§¬«∏UÊ π⁄UËŒÊ Á¡‚◊¥ ‚ 5,000 ◊Ë≈U⁄U ∑§¬«∏UÊ
⁄UÊ◊ ∑§Ê 30 L§0 ¬˝ÁÃ ◊Ë≈U⁄U ’Ë¡∑§ ◊ÍÀÿ ¬⁄U ¬˝·áÊ ¬⁄U ÷¡ ÁŒÿÊ – ¬˝·∑§ Ÿ 5,000 L§0 ÷Ê«∏UÊ
•ÊÒ⁄U 500 L§0 ¬ÒÁ∑¢§ª ∑§ øÈ∑§Ê∞ – ⁄UÊ◊ Ÿ 4,000 ◊Ë≈U⁄U ∑§¬«∏UÊ 40 L§0 ¬˝ÁÃ ◊Ë≈U⁄U ‚ ’ø
ÁŒÿÊ •ÊÒ⁄U 2,000 L§0 ÁflÁflœ πøÊZ ∑§ øÈ∑§Ê∞ – ⁄UÊ◊ ∑È§‹ Á’∑˝§Ë ¬⁄U 5% ∑§◊Ë‡ÊŸ ÃÕÊ
30 L§0 ¬˝ÁÃ ◊Ë≈U⁄U ‚ •Áœ∑§ ◊ÍÀÿ ¬⁄U 20% ∑§◊Ë‡ÊŸ ¬ÊŸ ∑§Ê •Áœ∑§Ê⁄UË „ÒU – ’Ê¡Ê⁄U ◊ÍÀÿ
∑§◊ „UÊ ¡ÊŸ ∑§ ∑§Ê⁄UáÊ, ‡Ê· ◊Ê‹ ∑§Ê ◊ÍÀÿ 10% ∑§◊ „UÊ ªÿÊ – ‚ËÃÊ ∑§Ë ¬ÈSÃ∑§Ê¥ ◊¥ ¬˝·áÊ
πÊÃÊ ’ŸÊß∞ –
Sita purchased 10,000 metres of cloth for Rs. 2,00,000 of which
5,000 metre cloth is sent to Ram on consignment at invoice price of
Rs. 30 per metre. The consignor paid Rs. 5,000 for freight and
Rs. 500 for packing. Ram sold 4,000 metre cloth at Rs. 40 per metre
and paid Rs. 2,000 for sundry expenses. Ram is entitled for 5%
commission on total sales and 20% commission on surplus price over
Rs. 30 per metre. Due to fall in market price the value of remaining
goods was reduced by 10%. Prepare consignment account in the
books of Sita. 3
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18. Ã‹¬≈U ’ŸÊŸ ‚ ¬Ífl¸ ‹πÊ¬Ê‹ ∑§Ê ÁŸêŸ •‡ÊÈÁhÿÊ¥ ∑§Ê ¬ÃÊ ‹ªÊ – ßŸ •‡ÊÈÁhÿÊ¥ ∑§Ê ‚Ëœ
πÊÃÊ¥ ◊¥ ‚ÈœÊ⁄U ∑§ËÁ¡∞ —

(i) ◊Ê„UŸ ‚ ¬˝ÊåÃ 200 L§0 ©U‚∑§ πÊÃ ◊¥ Ÿ„UË¥ Á‹π ªÿ –

(ii) ¬˝ÊåÃ ∑§◊Ë‡ÊŸ 120 L§0 ∑§Ê ∑§◊Ë‡ÊŸ πÊÃ ◊¥ 420 L§0 ‚ πÃÊÿÊ ªÿÊ –

(iii) ∑˝§ÿ flÊ¬‚Ë ¬ÈSÃ∑§ ∑§Ê ÿÊª 2,111 L§0 •Êª ‹ ªÿ •ÊÒ⁄U 211 L§0 ‚ Á‹πÊ ªÿÊ –

 Before preparing the Trial Balance an accountant identified the

following errors. Rectify these errors directly in the accounts :

(i) Rs. 200 received from Mohan has not been entered in his

account.

(ii) Commission received Rs. 120 was posted in commission account

as Rs. 420.

(iii) The total of purchase return book Rs. 2,111 has been carried

forward and written as Rs. 211. 3

19. Ã‹¬≈U ’ŸÊŸ ∑§ ’ÊŒ ôÊÊÃ „ÈUß¸ ÁŸêŸÁ‹ÁπÃ •‡ÊÈÁhÿÊ¥ ∑§Ê ‚ÈœÊ⁄UŸ ∑§ Á‹∞ •Êfl‡ÿ∑§ ¡Ÿ¸‹
¬˝ÁflÁc≈UÿÊ° ŒËÁ¡∞ —

(i) ©UœÊ⁄U Áfl∑˝§ÿ ∑§ 531 L§0 ∑§Ê Áfl∑˝§ÿ ’„UË ◊¥ 351 L§0 ‚ Á‹π ÁŒÿÊ –

(ii) Áfl∑§Ê‚ ‚ ¬˝ÊåÃ 320 L§0 ∑§Ê ø∑§ ’Ò¥∑§ Ÿ •¬˝ÁÃÁc∆UÃ ∑§⁄U∑§ ‹ÊÒ≈UÊ ÁŒÿÊ – ß‚ Áfl∑§Ê‚
∑§ fl¡Êÿ ’^ÔUÊ πÊÃÊ ◊¥ πÃÊ ÁŒÿÊ –

(iii) 15,400 L§0 ◊¥ ∑§êåÿÍ≈U⁄U ’øÊ Á¡‚ Áfl∑˝§ÿ ’„UË ◊¥ Á‹π ÁŒÿÊ ªÿÊ –

Give necessary Journal entries to rectify the following errors disclosed

after making the Trial Balance :

(i) Credit sales Rs. 531 was written in the sales book as Rs. 351.

(ii) The bank returned a dishonoured cheque of Rs. 320 received

from Vikas. This was posted in discount account instead of

Vikas.

(iii) Computer sold for Rs. 15,400 was entered in the Sales Book. 3
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20. ÁŸêŸ •‡ÊÈÁhÿÙ¥ ∑§Ê ‡ÊÈh ‹Ê÷ ¬⁄U ¬˝÷Êfl ’ÃÊß∞ —
(i) Áfl∑˝§ÿ flÊ¬‚Ë ’„UË ∑§ ÿÊª 550  L§0 ∑§Ê ∑˝§ÿ flÊ¬‚Ë πÊÃ ∑§ ∑˝§Á«U≈U ¬ˇÊ ◊¥ πÃÊÿÊ

ªÿÊ –
(ii) »§∑§Ë⁄U ∑§ πÊÃ ∑§ «ÍU’Ã ´§áÊ 200  L§0 ∑§Ê «ÍU’Ã ´§áÊ πÊÃ ◊¥ Ÿ„UË¥ πÃÊÿÊ ªÿÊ –
(iii) Áfl∑˝§ÿ ∑§ 276 L§0 ∑§Ê ⁄UÊ◊ ∑§ πÊÃ ∑§ ŸÊ◊ ¬ˇÊ ◊¥ 267 L§0 ‚ πÃÊÿÊ –
Show the effect of following errors on net profit :

(i) The total of Sales return book Rs. 550 was posted to the credit
side of Purchase return account

(ii) Bad debts of Rs. 200 from the account of Fakir was not posted
in Bad debts account.

(iii) A sale of Rs. 276 was posted to the debit side of the account of
Ram by Rs. 267. 3

21. 1 ¡Ÿfl⁄UË, 2007 ∑§Ê ◊ŸÊ¡ »§◊¸ ‚ •fl∑§Ê‡Ê ª˝„UáÊ ∑§⁄UÃÊ „ÒU – ©U‚ Œÿ ⁄UÊÁ‡Ê 7,500 L§0
„ÒU – ‡Ê· ‚Ê¤ÊŒÊ⁄U ©U‚∑§Ë Œÿ ⁄UÊÁ‡Ê 5% flÊÁ·¸∑§ éÿÊ¡ ‚Á„UÃ ¬˝àÿ∑§ fl·¸ ∑§ •ãÃ ◊¥ ÃËŸ ‚◊ÊŸ
flÊÁ·¸∑§ Á∑§SÃÊ¥ ◊¥ øÈ∑§ÊŸ ∑§ Á‹∞ ‚„U◊Ã „UÊ ¡ÊÃ „Ò¥U – ¬˝Õ◊ ŒÊ fl·ÊZ ∑§ Á‹∞ ◊ŸÊ¡ ∑§Ê ´§áÊ
πÊÃÊ ’ŸÊß∞ –
Manoj retires on 1st January, 2007 from the firm. Amount payable to
him is Rs. 7,500. Remaining partners agree to pay the amount due to
him at the end of each year with interest at 5% p.a. in three equal
instalments. Prepare loan account of Manoj for first two years. 3

22. ¬˝ËÁÃ •ÊÒ⁄U Á¡¢≈UÊ 3 : 2 ∑§ •ŸÈ¬ÊÃ ◊¥ ‹Ê÷-„UÊÁŸ ’Ê¢≈UÃ „ÈU∞ ‚Ê¤ÊŒÊ⁄U „Ò¥U – 31 ◊Êø¸U, 2009
∑§Ù ©UŸ∑§Ê Áø_ÔUÊ ÁŸêŸ ¬˝∑§Ê⁄U ÕÊ —

31 ◊Êø¸, 2009 ∑§Ê Áø_ÔUÊ
L§0 L§0

‹ŸŒÊ⁄U 15,000 Ÿ∑§Œ ‡Ê· 19,500

‚Ê◊Êãÿ ‚¢øÿ 15,000 ÁflÁflœ ŒŸŒÊ⁄U 30,000

¬Í°¡Ë πÊÃ ÉÊ≈UÊÿÊ — •ÊÿÊ¡Ÿ12,00018,000

L§0
¬˝ËÁÃ 60,000 ⁄U„UÁÃÿÊ 45,000

Á¡¢≈UÊ    30,000 90,000 ÿ¢òÊ 19,500

ÅÿÊÁÃ 18,000

                           
1,20,000 1,20,000
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1 •¬˝Ò‹, 2009 ∑§Ê fl ⁄UÊ„ÈU‹ ∑§Ê 13   Á„US‚ ∑§ Á‹∞ ¬˝fl‡Ê ŒÃ „Ò¥ – fl„U •¬Ÿ Á„US‚ ∑§Ë
ÅÿÊÁÃ ∑§ Á‹∞ √ÿÊ¬Ê⁄U ◊¥ Ÿ∑§Œ ÷ÈªÃÊŸ ∑§⁄UÃÊ „ÒU ÃÕÊ ßÃŸË ¬ÿÊ¸åÃ ¬Í°¡Ë ‹ÊÃÊ „ÒU Á¡‚‚ Á∑§
©U‚ Ÿß¸ »§◊¸ ∑§Ë ∑È§‹ ¬Í°¡Ë ∑§Ê 13  ÷Êª ÁŒÿÊ ¡Ê ‚∑§ – »§◊¸ ∑§Ë ÅÿÊÁÃ ∑§Ê ◊ÍÀÿÊ¢∑§Ÿ ªÃ ÃËŸ
fl·ÊZ ∑§ •ÊÒ‚Ã ‹Ê÷ ∑§ ŒÊ ªÈŸ ∑§ •ÊœÊ⁄U ¬⁄U Á∑§ÿÊ ¡ÊÃÊ „ÒU – ßŸ fl·ÊZ ∑§ ‹Ê÷ ÿÊ „UÊÁŸ
∑˝§◊‡Ê— 30,000 L§0, 35,000 L§0 ( „UÊÁŸ ) •ÊÒ⁄U 50,000 L§0 Õ – ÿ„U ÷Ë ÁŸ‡øÿ Á∑§ÿÊ
ªÿÊ Á∑§ ŒŸŒÊ⁄UÊ¥ ¬⁄U •ÊÿÊ¡Ÿ ∑§Ê  4,000 L§0 Ã∑§ ÉÊ≈UÊÿÊ ¡Êÿ •ÊÒ⁄U ⁄U„UÁÃÿ ∑§Ê ¬ÈŸ◊Í¸ÀÿÊ¢∑§Ÿ
60,000 L§0 ¬⁄U Á∑§ÿÊ ¡Êÿ – ÿãòÊ ∑§Ê 15,000 L§0 Ã∑§ ÉÊ≈UÊÿÊ ¡Êÿ ÃÕÊ ’∑§ÊÿÊ √ÿÿ
4,000 L§0 ∞fl¢ ©U¬ÊÁ¡¸Ã •Êÿ 1,000 L§0 ∑§Ê ¬ÈSÃ∑§Ê¥ ◊¥ ÁŒπÊÿÊ ¡Ê∞¢ –
©U¬⁄UÊÄÃ √ÿfl„UÊ⁄UÊ¥ ∑§ Á‹∞ ¡Ÿ¸‹ ¬˝ÁflÁc≈UÿÊ° ŒËÁ¡∞ ÃÕÊ ‚Ê¤ÊŒÊ⁄UÊ¥ ∑§ ¬Í°¡Ë πÊÃ ’ŸÊß∞ –

•ÕflÊ  
„UËŸÊ, ÁŸÄ∑§Ë •ÊÒ⁄U ’’Ë 2 : 2 : 1 ∑§ •ŸÈ¬ÊÃ ◊¥ ‹Ê÷-„UÊÁŸ Áfl÷ÊÁ¡Ã ∑§⁄UÃ „ÈUÿ éÿÍ≈UË ¬Ê‹¸⁄U
√ÿfl‚Êÿ ø‹ÊÃË „Ò¥ – ßŸ∑§Ë SÕÊÿË ¬Í°¡Ë ∑˝§◊‡Ê— 1,20,000 L§0, 80,000 L§0 ÃÕÊ
50,000 L§0 ÕË –
•ÁãÃ◊ πÊÃ ¬˝ÁÃ fl·¸ 31 ÁŒ‚ê’⁄U ∑§Ê ÃÒÿÊ⁄U Á∑§ÿ ¡ÊÃ „Ò¥U – ‚Ê¤ÊŒÊ⁄UË ‚¢‹π ∑§ •ŸÈ‚Ê⁄U
(i) SÕÊÿËU ¬Í°¡Ë ¬⁄U 6% flÊÁ·¸∑§ Œ⁄U ‚ éÿÊ¡ ÁŒÿÊ ¡ÊÿªÊ –
(ii) ¬˝ÁÃ ◊Ê„U „UËŸÊ ∑§Ê 500 L§0, ÁŸÄ∑§Ë ∑§Ê 400 L§0 ÃÕÊ ’’Ë ∑§Ê 300 L§0 flÃŸ ÁŒÿÊ

¡ÊÿªÊ –

(iii) ‚Ê¤ÊŒÊ⁄U ∑§Ë ◊ÎàÿÈ ÿÊ •fl∑§Ê‡Ê ª˝„UáÊ ∑§⁄UŸ ¬⁄U fl„U ÁŸêŸ ∑§Ë •Áœ∑§Ê⁄UË „UÊªË —

(a) •¬Ÿ øÊ‹Í πÊÃ ÃÕÊ ¬Í°¡Ë πÊÃ ∑§ ‡Ê· –

(b) ◊ÎàÿÈ ÿÊ ÁŸflÎÁûÊ ∑§Ë ÁÃÁÕ Ã∑§ flÃŸ, ¬Í°¡Ë ¬⁄U éÿÊ¡ •ÊÒ⁄U ‹Ê÷Ê¥ ◊¥ Á„US‚Ê ¡Ê
∆UË∑§ ¬Ífl¸ ∑§ ŒÊ ‹πÊ fl·ÊZ ∑§ •ÊÒ‚Ã ‹Ê÷ ( ¬Í°¡Ë ¬⁄U éÿÊ¡ ÃÕÊ ‚Ê¤ÊŒÊ⁄UÊ¥ ∑§
flÃŸ ∑§ ‚◊ÊÿÊ¡Ÿ ∑§ ’ÊŒ )  ∑§ •ÊœÊ⁄U ¬⁄U „UÊªÊ –

(c) ÅÿÊÁÃ ∑§Ê Á„US‚Ê Á¡‚∑§Ê ÁŸœÊ¸⁄UáÊ ∆UË∑§ ¬Ífl¸ ∑§ ÃËŸ ‹πÊ fl·ÊZ ∑§ •ÊÒ‚Ã ‹Ê÷
( ¬Í°¡Ë ¬⁄U éÿÊ¡ ÃÕÊ ‚Ê¤ÊŒÊ⁄UÊ¥ ∑§ flÃŸ ∑§ ‚◊ÊÿÊ¡Ÿ ∑§ ’ÊŒ ) ∑§ ŒÊ fl·ÊZ ∑§
∑˝§ÿ ∑§ •ÊœÊ⁄U ¬⁄U Á∑§ÿÊ ¡ÊÿªÊ –

„UËŸÊ ∑§Ë 1 ¡È‹Êß¸, 2009 ∑§Ê ◊ÎàÿÈ „UÊ ªß¸ – ß‚ ÁŒŸ ß‚∑§ øÊ‹Í πÊÃ ◊¥ 15,840 L§0 ŸÊ◊
‡Ê· ÕÊ – ‚Ê¤ÊŒÊ⁄UÊ¥ ∑§Ë ¬Í°¡Ë ¬⁄U éÿÊ¡ ÃÕÊ flÃŸ ÉÊ≈UÊŸ ‚ ¬Ífl¸ ªÃ 3 fl·ÊZ ∑§ ‹Ê÷ ∑˝§◊‡Ê—
80,000 L§0, 90,000 L§0 fl 1,00,000 L§0 Õ –
„UËŸÊ ∑§ ©UûÊ⁄UÊÁœ∑§Ê⁄UË ∑§Ê πÊÃÊ ’ŸÊß∞ –
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Priti and Jinta are partners sharing profit and loss in the ratio of

3 : 2. Their Balance Sheet as on 31st March, 2009 is as follows :

Balance Sheet as on 31st March, 2009

Rs. Rs.

Creditors 15,000 Cash Balance 19,500

General Reserve 15,000 Sundry Debtors 30,000

Capital Accounts : Less : Provision 12,000 18,000

Rs. Stock 45,000

Priti 60,000 Plant 19,500

Jinta    30,000 90,000 Goodwill 18,000
                           

1,20,000 1,20,000
                           

On 1st April, 2009 they admit Rahul for 1
3  rd share. He pays cash in

the business for his share of Goodwill and brings so sufficient capital

so that he can be given 13  rd share of the total capital of the new firm.

The goodwill of the firm is to be valued at twice of average profit of

the last three years. Profit or loss of these three years were

Rs. 30,000, Rs. 35,000 ( Loss ) and Rs. 50,000. It was also decided

that the provision on debtors be reduced to Rs. 4,000 and stock is to

be revalued at Rs. 60,000. The plant is to be reduced to Rs. 15,000

and the outstanding expenses Rs. 4,000 and accrued income

Rs. 1,000 are to be shown in the books.

Pass Journal entries for the above transactions and prepare Capital

Accounts of the partners.

OR
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Hina, Nikki and Babi runs a Beauty Parlour business sharing

profit and loss in the ratio of 2 : 2 : 1. Their fixed capitals were

Rs. 1,20,000, Rs. 80,000 and Rs. 50,000 respectively.

Final accounts are prepared on 31st December each year. According

to partnership deed

(i) interest on fixed capital would be given @ 6% p.a.

(ii) salary per month would be given to Hina Rs. 500, to Nikki

Rs. 400 and to Babi Rs. 300.

(iii) on the death or retirement of a partner she will be entitled for

(a) balance of her current account and capital account

(b) salary, interest on capital up to the date of death or

retirement and shares in profits which will be based on the

average profit of immediate last two accounting years ( after

adjusting the interest on capital and partners’ salary ).

(c) her share of goodwill would be based on two years'

purchase of the average profit of the immediate last three

accounting years ( after adjusting the interest on capital

and partners’ salary ).

Hina died on 1st July, 2009. On that day her Current Account has a

Debit Balance of Rs. 15,840.

The profits for the last three years before deducting interest on capital

of partners and salary were Rs. 80,000, Rs. 90,000 and

Rs. 1,00,000 respectively.

Draw Hina’s Executor’s Account. 6
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23. ‚ÁøŸ, œÊŸË fl ‚ÊŸË ∞∑§ »§◊¸ ◊¥ 3 : 4 : 3 ∑§ •ŸÈ¬ÊÃ ◊¥ ‹Ê÷-„UÊÁŸ ’Ê°≈UÃ „ÈU∞ ‚Ê¤ÊŒÊ⁄U
„Ò¥U – ßã„UÊ¥Ÿ »§◊¸ ∑§ ÁflÉÊ≈UŸ ∑§Ê ÁŸ‡øÿ Á∑§ÿÊ – ‚ÁøŸ ∑§Ê ‚ê¬ÁûÊÿÊ¥ ‚ fl‚Í‹Ë ∑§⁄UŸ „UÃÈ
ÁŸÿÈÄÃ Á∑§ÿÊ – fl‚Í‹ „ÈUß¸ ⁄UÊÁ‡Ê ¬⁄U ‚ÁøŸ ∑§Ê 5% ¬ÊÁ⁄UüÊÁ◊∑§ Á◊‹ªÊ •ÊÒ⁄U fl‚Í‹Ë ∑§ ‚◊SÃ
πø¸ fl„U Sflÿ¢ fl„UŸ ∑§⁄UªÊ –  31 ◊Êø¸, 2009 ∑§Ê »§◊¸ ∑§ ÁflÉÊ≈UŸ ¬⁄U Áø_ÔUÊ ÁŸêŸ ¬˝∑§Ê⁄U   
ÕÊ —

31 ◊Êø¸,  2009 ∑§Ê Áø_ÔUÊ

L§0 L§0

´§áÊ20,000 Ÿ∑§Œ ‡Ê· 750

‹ŸŒÊ⁄U 5,000 ŒŸŒÊ⁄U 23,000

Œÿ Á’‹ 4,500 ÉÊ≈UÊÿ —  •ÊÿÊ¡Ÿ 1,500 21,500

¬Í°¡Ë πÊÃ — ⁄U„UÁÃÿÊ 27,500

‚ÁøŸ 10,000 »§ŸË¸ø⁄U 2,500

œÊŸË  15,000 25,000 ¬Í°¡Ë πÊÃÊó‚ÊŸË 2,250

                           
54,500 54,500

                           

‚ÁøŸ Ÿ ‚ê¬ÁûÊÿÊ¥ ‚ ÁŸêŸ ⁄UÊÁ‡Ê fl‚Í‹Ë ∑§Ë —  

ŒŸŒÊ⁄U 19,000 L§0, ⁄U„UÁÃÿÊ 20,000 L§0 •ÊÒ⁄U »§ŸË¸ø⁄U 1,000 L§0 – »§◊¸ ∑§Ë ÅÿÊÁÃ

1,000 L§0 ◊¥ ’øË ªß¸ – ‹ŸŒÊ⁄UÊ¥ ∑§Ê ¬ÍáÊ¸ ÷ÈªÃÊŸ ◊¥ 4,250 L§0 øÈ∑§Êÿ – ´§áÊ •ÊÒ⁄U Œÿ

Á’‹Ê¥ ∑§Ë ¬ÍáÊ¸ ⁄UÊÁ‡Ê øÈ∑§Êß¸ – 250 L§0 •ŒûÊ ‹ŸŒÊ⁄UÊ¥ ∑§Ê ÷Ë øÈ∑§Êÿ Á¡Ÿ∑§Ê ¬ÈSÃ∑§Ê¥ ◊¥ ‹πÊ

Ÿ„UË¥ Á∑§ÿÊ ªÿÊ – fl‚Í‹Ë ∑§ πø¸ 600 L§0 ‚ÁøŸ Ÿ √ÿÁQ§ªÃ M§¬ ‚ øÈ∑§Ê∞ – ‚ÊŸË ÁŒflÊÁ‹ÿÊ

„UÊ ªÿÊ ÃÕÊ ©U‚‚ ¬ÍáÊ¸ ÷ÈªÃÊŸ ◊¥ ∑§fl‹ 1,500 L§0 „UË fl‚Í‹ „ÈU∞ – ªÊŸ¸⁄U ’ŸÊ◊ ◊⁄¸U ÁŸÿ◊

‹ÊªÍ „UÊÃÊ „ÒU –

 fl‚Í‹Ë πÊÃÊ fl ¬Í°¡Ë πÊÃ ÃÒÿÊ⁄U ∑§ËÁ¡∞ – fl‚Í‹Ë ∑§Ë „UÊÁŸ ∑§Ë ⁄UÊÁ‡Ê Ÿ∑§Œ Ÿ„UË¥ ‹Êß¸ ¡ÊÃË   

„ÒU –



14

SS—30–1—Account. I SS–558  

Sachin, Dhoni and Soni are partners in a firm sharing profit & loss in
the ratio of 3 : 4 : 3. They decided to dissolve the firm. Sachin was
appointed for realisation from assets. Sachin will get 5% remuneration
on the amount realised and he will bear himself all the expenses of
realisation. On dissolution of the firm on 31st March, 2009, the
Balance Sheet was as follows :

Balance Sheet as on 31st March, 2009

Rs. Rs.
Loan 20,000 Cash Balance 750
Creditors 5,000 Debtors 23,000
Bills Payable 4,500 Less : Provision 1,500 21,500
Capital Accounts : Stock 27,500

Sachin 10,000 Furniture 2,500
Dhoni  15,000 25,000 Capital A/c — Soni 2,250

                           
54,500 54,500

                           
Sachin realised the amount from assets as follows :
Debtors Rs. 19,000, Stock Rs. 20,000 and Furniture Rs. 1,000.
Goodwill of the firm was sold for Rs. 1,000. Creditors were paid
Rs. 4,250 in full settlement. Full amount was paid to loan and bills
payable. Rs. 250 were also paid to outstanding creditors which were
not recorded in the books. Realisation expenses Rs. 600 were paid by
Sachin personally. Soni became insolvent and Rs. 1,500 only were
realised from him in full settlement. Garner vs Murray rule is
applicable.
Prepare Realisation Account and Capital Accounts. The amount of
realisation loss is not to be brought in cash. 6

24. ÿ‡Ê »§ŸË¸ø⁄U ◊Ê≈¸U Áfl∑˝§ÿ ◊ÍÀÿ ∑§ 50% ‹Ê÷ ∑§ •ÊœÊ⁄U ¬⁄U Á∑§⁄UÊÿÊ ∑˝§ÿ ¬⁄U ◊Ê‹ ’øÃ „Ò¥ –
ÁŸêŸ ‚ÍøŸÊ ‚ Á∑§⁄UÊÿÊ ∑˝§ÿ √ÿÊ¬Ê⁄U πÊÃÊ ’ŸÊß∞ —
2009
¡Ÿfl⁄UË, 01 ’∑§ÊÿÊ Á∑§SÃ¥ 30,000 L§0
ÁŒ‚ê’⁄U, 31 fl·¸ ∑§ ŒÊÒ⁄UÊŸ — ª˝Ê„U∑§Ê¥ ‚ ¬˝ÊåÃ ⁄UÊÁ‡Ê 1,00,000 L§0

,, Á∑§⁄UÊÿÊ ∑˝§ÿ ¬⁄U Á’∑˝§Ë 84,000 L§0
,, Á∑§⁄UÊÿÊ ∑˝§ÃÊ•Ê¥ ∑§Ë •Œÿ Á∑§SÃ¥ ( ¡éÃ ◊Ê‹ ∑§ •‹ÊflÊ ) 20,000 L§0
,, ¡éÃ Á∑§ÿÊ ªÿÊ ◊Ê‹ Á¡‚∑§Ë •Œÿ Á∑§SÃ¥ 1,000 L§0 ∑§Ê ◊ÍÀÿÊ¢∑§Ÿ

100 L§0 ¬⁄U Á∑§ÿÊ ªÿÊ –
,, fl·¸ ∑§ •ãÃ ◊¥ — Œÿ ’∑§ÊÿÊ Á∑§SÃ¥ 9,000 L§0 –

•ÕflÊ
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1 •¬˝Ò‹, 2007 ∑§Ê “•÷Ë” Ÿ Á∑§SÃ ÷ÈªÃÊŸ ¬hÁÃ ¬⁄U “∑§÷Ë” ‚ ∞∑§ ◊‡ÊËŸ π⁄UËŒË – ÃÈ⁄UãÃ
÷ÈªÃÊŸ 15,480  L§0 Á∑§ÿÊ ªÿÊ ÃÕÊ ¬˝ÁÃ fl·¸ 31 ◊Êø¸ ∑§Ê 10,000 L§0 ∑§Ë ÃËŸ Á∑§SÃ¥
÷ÈªÃÊŸ ∑§⁄UŸ ∑§Ê ‚◊¤ÊÊÒÃÊ Á∑§ÿÊ – ◊‡ÊËŸ ∑§Ê ⁄UÊ∑§«∏UË ◊ÍÀÿ 35,000 L§0 ÕÊ – “∑§÷Ë” 25%

flÊÁ·¸∑§ éÿÊ¡ fl‚Í‹ ∑§⁄UÃÊ „ÒU – “•÷Ë” ∑˝§◊ÊªÃ OÔUÊ‚ ¬hÁÃ ∑§ •ÊœÊ⁄U ¬⁄U ◊‡ÊËŸ ∑§ ⁄UÊ∑§«∏UË
◊ÍÀÿ ¬⁄U 10%  flÊÁ·¸∑§ ◊ÍÀÿ OÔUÊ‚ •¬Á‹ÁπÃ ∑§⁄UÃÊ „ÒU –
“∑§÷Ë” ∑§Ë ¬ÈSÃ∑§Ê¥ ◊¥ •Êfl‡ÿ∑§ ¡Ÿ¸‹ ¬˝ÁflÁc≈UÿÊ° ∑§ËÁ¡∞ –
Yash Furniture Mart sells goods on hire purchase on the basis of 50%

profit of selling price. Prepare Hire Purchase Trading Account from

the following information :

2009

January, 01 Instalments overdue Rs. 30,000.

December, 31 During the year : Cash received from customers

Rs. 1,00,000.

,, Hire purchase sales Rs. 84,000.

,, Instalments not due from hire purchase customers

( excluding forfeited goods ) Rs. 20,000.

,, Goods forfeited of which instalments not due

Rs. 1,000 valued at Rs. 100.

,, At the end of the y e a r  : Instalments overdue

Rs. 9,000.

OR

On 1st April, 2007, ‘Abhi’ purchased a machine from ‘Kabhi’ on

instalment payment system. Immediate payment was made

Rs. 15,480 and agreed to pay three instalments of Rs. 10,000 on

31st March each year. The cash price of machine was Rs. 35,000.

‘Kabhi’ charges interest 25% per annum. 'Abhi' writes off 10% per

annum depreciation each year on the cash price of the machine on the

basis of diminishing balance method.

Pass necessary Journal entries in the books of ‘Kabhi’. 6
                  


